CITIZEN

Service Manual

Model: IDP3550/3551

Dot Matrix Printer

Rev. 1.00 Newly issued on May 10, 1999

Japan CBM Corporation
Information Systems Div.



iDP3550/3551 Service Manual

INTRODUCTION
This manual describes the disassembly, reassembly, and maintenance procedures of the dot im-
pact printer iDP3550/3551. It is intended for field maintenance men.

FEATURES
This is a small-size dot impact printer developed for various data communication terminals, POS
terminals, kitchen-use printers, bank card, terminals, and so on.
Its abundant built-in features allow you to widely use this printer for different applications. Pri-

or to using it, read and understand this manual thoroughly.

(1) Small size, light weight, and low price

(2) High-speed print (Bi-directional)

(3) Red and black print

(4) Very easy paper loading by the auto loading function
(5) Paper end detecting function

(6) Power supply through an AC adapter

-2- CITIZEN



iDP3550/3551 Service Manual

CONTENTS
HANDLING AND MAINTENANCE OF PRINTER ......oiiiiiiiiie st see e 5
S o O = [0 Ny I 0\ TSRS 6
A N = T Y TS o L= ol | o= o] o SRR 6
DISASSEMBLY AND REASSEMBLY ....ooiiiiiiiiie it see ettt tee e see e ste e stte e staeesnteesssbeessnaeesnneeenns 7
3.1 DisasSemMBIY PrOCEAUNIE. .....coiiiiii ettt stte e e st e e e e s nbee e e e antreeeesnreeee s 7
3.2 REASSEMDIY PrOCEAUNE ....coiiiiiiiie ettt e et e e s snb e e e s st e e e s snaeeeeenneeeas 14
TROUBLESHOOTING ...ttt eite sttt e e stte s stee e sste e stte e s staeesstaaessseeeassaeasaeesnseeesnseeensseesseennses 15
4.1 Troubleshooting ProCeAUIE........oooi ittt e s e e e b e e e s aeeas 15
4.2 TroubleShooting GUIE........cooiiiiiie et e e st ae e e s snbbeeeneeeas 16
SERVICE PARTS LIST oottt ettt ettt e st e et te e st e e st e e sste e e ssteeasseesnsaeesntaeeanseeensennsnnennnes 21
5.1  Parts LiSt for MEChANISIM .......uiiiiiie et e e st e e e eeeas 21
I B T TS LST= g o] A B T = U o o RS 22
5.3 PArtS LISETOr PCB ASSY ..eoiiiiiiiiiiiiiiiee ittt e ettt e sttt e e sttt e e e s sabee e e s s bt e e e s antbe e e s sbbee e e s snbaeeannreeas 24
5.3.1 Control PCB Assy 3550-01 (R)/3550-02 (P) ...cuueviiiiiiiieeiiiiieee e eiiee et eieeee e 24
5.3.2 POWEN PCB ASSY 3535-03 ... .. ittt ettt e e e e e e e s s s sibb b e e e e e e e e e e e anes 28
I e U SR I\ o UL T = 111V o o [ SR 30
5.4.1 Control PCB Assy 3550-01 (Serial Interface D-sub 25) .........cccoevieeiiiiiee e 30
5.4.2 Control PCB Assy 3550-02 (Parallel Interface).........ccccooveiiiiiiiiiiiiee e 31
5.4.3 Power PCB ASSY 3535-03 (120V) ....uuuiiiiiiiiiiiesiiiieee e esiiee ettt e e sitee e e s s snaae e e e s sneaeeaesnnes 32
5.4.4 Power PCB ASSY 3535-03 (230V) ....uuuitiiiiiiiiiesiiiieee st e st ee e s ssitee e e s sssbaeeeessneneeaesnnns 33
DRAWING ..ottt ettt ettt e st e et e e et e e aste e e ssteeesseeanseeeanteeeasseeeasseeaseeeanseneasteeesteanseeennseeannnenans 34
L% N = ) (o Tod 1 D = To | = s o F PR RT 35
I o1 | o UL} D T To | =T o [P PSRRI 36
6.2.1 Control PCB Assy 3550-01 (Serial Interface D-sub 25) .........cccooevieeiiiiiiee i 36
6.2.2 Control PCB Assy 3550-02 (Parallel Interface).........ccccocceeiiiiiiiiiiniee e 37
6.2.3 Power PCB ASSY 3535-03 (120V) ..iiuiiiieiiiiieee ettt ee ettt e et e e s snneeea e 38
6.2.4 Power PCB ASSY 3535-03 (230V) ..iiiiiiieiiiiiiee ettt ee ettt siteee e et e e e s snnaeea e 39
OUTER DIMENSION ....oiiiiiie ittt sttt ettt ste e stte e e stteesteeessteeessteeeasseeaasseeansaeeantaneanseeesssansneesnses 40

_3_ CITIZEN



iDP3550/3551 Service Manual

A R 1 B 151 OO PP PRSP 40
A 1 B 11 R ST PP PP RPN 41

+ For the printer mechanism (DP-400/410), see the separate Service Manual.

_a_ CITIZEN



iDP3550/3551 Service Manual

1. HANDLING AND MAINTENANCE OF PRINTER
See the User’'s Manual coming with the printer body.

-5- CITIZEN



iDP3550/3551 Service Manual

2. SPECIFICATIONS

2.1 Basic Specifications

Model
Iltem

iDP3550 IDP3551

Printer mechanism

Character type: DP-654 series/Graphic type: DP-657series (CITIZEN)

Print method

Serial dot impact method (Bidirectional print), 2-pass graphic (Unidirec-
tional print)

Print width Character type: 63.6 mm/Graphic type: 58.7 mm
Print head 9 pins
Print speed Character type: Approx. 3.6 lines/second/Graphic type: Approx. 3

lines/second

Print columns

40 columns

Character size

Character type: 1.36 mm(W) x 2.4 mm(H) (7 dots)
1.36 mm(W) x 3.1 mm(H) (9 dots)
Graphic type: 1.20 mm(W) x 2.4 mm(H) (7 dots)
1.20 mm(W) x 3.1 mm(H) (9 dots)

Character types

Alphanumeric, Katakana, International characters, Code page 850, 860,
863, 865, 852, 866, 857, Windows code

Line spacing

Character type: 4.23 mm (1/6 inch)/Graphic type: 2.82mm (1/9 inch)

Paper Ordinary paper and non-carbon paper: 76 +/- 0.5 mm(W) x $83 mm(OD)
. Special purpose ribbon cartridge:

Ink ribbon Red/Black or Single Color (Black or Purple)

Interface Serial(RS-232C), Parallel(CENTRONICS compliant)

Command system

CBM mode, STAR mode, ESC/POS mode
The user can select the mode with the DIP switch and preset jumpers.

Print function

On-line, self-test, and hex. dump print function
Provided by operating the power, LF, and SEL switches.

Input buffer

6K byte or 256 bytes (Selectable with the DIP switch)

Buffer backup function

Within 24 hours (After 10 minutes or more of printer operation)

Drawer function

2-drawer, 1-drawer switch

Auto loading function

Automatically feeds the paper by several lines when it is inserted.

Paper end detection

Stops printing when the paper has run out.

Paper near end detection

Stops printing when the paper is running out.(Settable with a command)

Auto cutter

None AC-134-E (Capable of partial and
full cut)

Winder

Special purpose winder AW-3-E (Option) that will be placed separately.

Supply voltage

120 V AC +/- 10 %, 50/60 Hz
230 V AC +/- 10 %, 50/60 Hz

Power consumption

Not printing: Approx. 10 W, Printing: Approx. 30 W

Weight

Approx. 2.8 kg Approx. 3 kg

Outer dimensions

160(W)x212(D)x194(H) mm 160(W)x212(D)x173(H) mm

Operating temperature
and humidity

0 to 40°C, 35 to 85 % RH (No dew condensation)

Storage temperature
and humidity

-20 to 60 °C, 10 to 90 % RH (No dew condensation)

EMI standard

U.S.A.: FCC Class-A
Europe: EN55022 Class-A, CE Marking

Safety standard

U.S.A,, Canada: UL, c-UL Europe: TUV, GS

_6— CITIZEN



iDP3550/3551 Service Manual

3. DISASSEMBLY AND REASSEMBLY
3.1 Disassembly Procedure
1. Removing the Top Cabinet
(1) Remove the printer cover.

(2) Remove the four screws (M3x12) and detach the top cabinet by gently lifting it upward

Top Cabinet

-7- CITIZEN



iDP3550/3551 Service Manual

2. Removing the Chassis Assembly
(1) Remove the top cabinet.
(2) Remove the one screw (M3x6) @ from the bottom and gently lift the chassis assembly

upward. Pull out the power cable from the bottom cabinet.

3. Removing the Printer Mechanism
(1) Remove the top cabinet.
(2) Remove the two screws (M3x14) ©.
(3) Disconnect the two connectors and remove the printer mechanism by lifting its connector
side upward.

Bottom Cabinet

_g-_ CITIZEN



iDP3550/3551 Service Manual

4. Removing the Power Board

(1) Remove the chassis assembly and then detach the control board.

(2) Remove the strain relief bushing of the power cable from the chassis with a special tool,
round nose pliers, or a similar tool.

(3) Remove the following four screws and detach the power board by lifting it upward while
pulling out the power switch from the chassis.
= Two screws (M4x6) that fasten the transformer
«One screw (M3x8) that fastens the heat sink
=0One screw with outer-toothed washer (M4x6) that fastens the earth lug of the power

cable

Strain Relief Bushing ~~

Power Switch

_9-_ CITIZEN



iDP3550/3551 Service Manual

5. Removing the PE Sensor Assembly
(1) Remove the chassis assembly and the printer mechanism.
(2) Disconnect the one connector from the control board.
(3) Peel off the vinyl tape from the chassis.
(4) Slide the PE sensor assembly in the direction ® until its hooks come off the chassis, and

then remove it by turning it in the direction @.

Connector -

Vinyl Tape

Chassis

Hooks

PE Sensor Assy

10— CITIZEN



iDP3550/3551 Service Manual

6. Removing the Auto Cutter AC-134

1)
)

®3)
(4)

Remove the top cabinet.

Cut the cable tie @ to set the cable of the auto cutter AC-134, that is fastened to the
printer mechanism, free.

Disconnect the one connector from the control board.

Loosen (not remove) the one screw (M2.6x6) @ and disengage both cutter BK from the

cutter BK mounting holes on the printer mechanism chassis to remove the auto cutter.

11— CITIZEN



iDP3550/3551 Service Manual

7. Removing the Paper Cutter (iDP3550)
(1) While widening both sides of the printer cover as shown by the arrows, push the paper

cutter toward you to disengage it from the two claws.
Claw

Printer Cover

Paper Cutter

¢ Reassembling the Paper Cutter (iDP3550)
While facing the cutter blade away from you, gently insert the paper cutter into the paper

cutter mounting slit on the printer cover until it is securely hooked by the two claws.

Claw

Printer Cover

-12 - CITIZEN



iDP3550/3551 Service Manual

8. Assembling the Auto Cutter AC-134
(1) Notes
1) See the User's Manual of AC-130 Auto Cutter for specifications and detailed opera-
tions.
2) The printer mechanisms that can mount the auto cutter AC-134 are as follows.
<DP-61*, DP-62*, and DP-65*

(2) Packing List (See Fig. 1.)
1) Auto Cutter Unit AC-130 1 unit
2) Hook L 1 pc.
3) Hook R 1 pc.
4) Cutter BKL 1 pc.
5) Cutter BKR 1 pc.
6) Screw (M2.6x6) 2 pcs.

7) Lock Lever (1 pc) (Attached to AC-130)
8) Paper Gate (1 pc) (Attached to AC-130)
Cutter BK R

Auto Cutter Unit
Screw M2.6x6

Printer Mechanism

13- CITIZEN



iDP3550/3551 Service Manual

(3) Assembling the Auto Cutter (See Fig. 1)

1) Securely insert the claws of the hook L and hook R into the square holes on the
printer mechanism.

2) Securely mount the cutter BK R on the auto cutter unit with the supplied screw
(M2.6x6).

3) Temporarily mount the cutter BK L on the auto cutter unit with the supplied screw
(M2.6x6). Insert the projections "A" and "B" of the cutter BK L and R into the
round holes on the printer mechanism to mount the auto cutter unit. Engage both
ends of the lock lever with the notches "C" and "D" of the hook L and R, and then se-
curely tighten the screw to fix the cutter BK L.

(4) How to Open the Auto Cutter (See Fig. 2.)

Push the handle and open the auto cutter.

3.2 Reassembly Procedure
Reassemble each part in the reverse order of the disassembly procedure described in Section 3.1.

-14 - CITIZEN



iDP3550/3551 Service Manual

4. TROUBLESHOOTING

4.1 Troubleshooting Procedure
When a trouble occurs, confirm its phenomenon, locate a defective part in accordance with 4.2

Troubleshooting Guide, and troubleshoot as described below.
e Phenomenon: Find a trouble phenomenon in this column. If there are multiple
phenomena, take all the corresponding items into consideration.
This allows you to specify a hidden defective part.
o Cause: Lists as many possible causes as possible. Guess a trouble cause out
of them and take its check method to specify the trouble cause.
e Check Method: Describes a check method to specify a trouble cause.
¢ Remedy: Troubleshoot by taking a remedy described in this column.
By troubleshooting in accordance with the above-mentioned procedure, you can troubleshoot ef-

ficiently with fewer misjudgments.

_15_ CITIZEN



iDP3550/3551 Service Manual

4.2 Troubleshooting Guide
Power Supply Failure

Phenomenon Cause Check Method Remedy
No power The AC cord is not con- Connect the AC cord to
(POWER lamp not | nected. the AC outlet.
illuminated) Not connected to the Connect to the terminal
terminal block (For block.
AC230V only)
The fuse is gone. Check whether any un- | Use the specified AC
specified power has | voltage.
been used so far.
Check whether the | Use the specified fuse.
specified fuse is used.
The fuse immedi-| The printer mechanism, | The power is normally | Replace the printer
ately goes again|control PCB assy, or |supplied when the ca- | mechanism.

after replacing with
new on.

power PCB assy is de-
fective.

ble is disconnected from
the printer mechanism.
(No operation is done.)

The power is normally
supplied when the cable
of the power PCB assy
is disconnected from the
control PCB assy.

Replace the control PCB
assy.

The phenomenon does
not change after the
above-mentioned check.

Replace the power PCB
assy.

The printer mechanism
or circuit drive power is
abnormal.

With a DC voltmeter,
measure the mecha-
nism drive voltage
and circuit drive volt-
age.

Replace the power PCB
assy.

+ If the fuse is gone with the specified AC voltage supplied, it is likely that the printer mechanism,

control PCB assy, or power PCB assy is defective.

check the wiring of the drawer and interface cable.

—16 -

Replace either defective one.

Incidentally,

CITIZEN



iDP3550/3551 Service Manual

Printing failure

Phenomenon

Cause

Check Method

Remedy

No printing

Faulty AC supply volt-
age

Check  whether the
specified AC voltage is
used.

Use the specified AC
voltage.

or
the

Faulty mounting
connection of
printer mechanism

Check mounting and
connection of the
printer mechanism.

Mount the printer
mechanism properly.

Faulty printer mecha- Replace the printer
nism mechanism.
Paint printout Non-recommended pa- Replace it with the

per is used.

specified paper.

Faulty ink ribbon

Check wear and tear of
the ink ribbon.

Replace the ink ribbon.

Low AC supply voltage

Check the supply volt-

Use the AC voltage

age with an AC voltme- | within the specified
ter. range.
Missing dots Faulty connection of the | Check  whether the | Connect the printer

printer mechanism

printer mechanism ca-
ble is properly con-
nected.

mechanism cable prop-
erly.

Foreign substance is
attached to the print
head.

Check the head for any
adhered foreign sub-
stance.

Dip a cotton swab or
soft cloth in ethyl alco-
hol and wipe away the
foreign substance.

Faulty print head

Replace the print head
or printer mechanism.

Bent ribbon mask

Check whether the rib-
bon mask is bent or not.

Correct the ribbon mask
to remove unwanted
bending.

Badly blurred
printout

Faulty AC supply volt-
age

Check  whether the
specified AC voltage is
used.

Use the specified AC
voltage.

Foreign substance is
attached to the print
head.

Check the head for any
adhered foreign sub-
stance.

Dip a cotton swab or
soft cloth in ethyl alco-
hol and wipe away the
foreign substance.

Bad printing qual-

ity

Faulty paper

Check whether the pa-
per meets the specifica-
tions.

Replace it with the

specified paper.

Faulty ink ribbon

Check wear and tear of
the ink ribbon

Replace the ink ribbon.

Low AC supply voltage

Check the AC supply
voltage with an AC
voltmeter.

Use the AC voltage
within the specified
range

17—

CITIZEN




iDP3550/3551 Service Manual

Faulty carriage mechanism

Phenomenon Cause Check Method Remedy
Abnormal sound Faulty connection of the | Check the connection of | Connect the connector
head connector the head connector. properly.

ERROR lamp illu-
minated

The print head does not
move to the home posi-
tion at power-on, or it
does not move.

Check for any foreign
substance within a
movable range or any
wear of the gear, etc.

Replace the print head
or printer mechanism.

Shear in printing

The paper is jamming.

Turn off the power once,
and then on it again.

If there is a shear in
printing, replace the
printer mechanism.

Faulty AC supply volt-
age

Check whether the
specified AC voltage is
supplied with an AC
voltmeter.

Use the specified AC
voltage.

Foreign substance in

the gear

Remove the printer
mechanism and check
for any foreign sub-
stance caught in the
gear, head motor gear,
or print head moving
part.

Eliminate the foreign
substance.

Broken gear

Remove the printer
mechanism and check
for any breakage of the
gear, head motor gear,
or print head moving
part.

If broken, replace the
printer mechanism.

~18—

CITIZEN




iDP3550/3551 Service Manual

e Paper feed failure

Phenomenon Cause Check Method Remedy
Paper is not fed or | Faulty connection of the | Check connection of the | Connect the connector
fed irregularly motor connector motor connector. correctly.

Defective motor

Measure the supply
voltage with a DC volt-
meter or oscilloscope.

If the supply voltage is
normal, replace the mo-
tor (printer mecha-
nism).

Paper feed failure
(Paper jam)

Check whether or not
the paper is jamming or
torn and caught in the
paper path.

Eliminate unnecessary
paper in the paper path
and set paper properly.

Low AC supply voltage

Check the AC supply
voltage with an AC
voltmeter.

Use the specified AC
voltage.

Foreign substance in

the gear

Remove the printer
mechanism and check
for any foreign sub-
stance caught in the
gear or motor gear.

Eliminate the foreign
substance.

Broken gear

Remove the printer
mechanism and check
for any breakage of the
gear or motor gear.

If broken, replace the
printer mechanism.

e Faulty sensors

the replaced one func-
tions properly.

Check whether the ER-
ROR lamp flickers
when paper is out.

Phenomenon Cause Check Method Remedy
Does not detect | Faulty paper sensor Replace the printer | Replace the printer
presence of paper. mechanism and check if | mechanism.

Foreign substance, etc.
caught by the sensor

Check for any foreign
substance.

Eliminate the foreign
substance.

Does not detect
paper near-end
status.

Faulty paper near-end
sensor

Replace the paper near-
end sensor.

Faulty connection of the
paper near-end sensor

Check connection of the
connector.

Connect the connector
correctly.

Foreign substance, etc.
caught by the sensor

Check for any foreign
substance.

Eliminate the foreign
substance.

+ If the no-paper condition is not detected while the printer is running out of the recording paper, it

will print without the paper, leading to a trouble of the head, and so on.

_19- CITIZEN



iDP3550/3551 Service Manual

e Faulty auto cutter (iDP3551 only)

Phenomenon Cause Check Method Remedy
Does not cut paper. | Faulty connection of the | Check connection of the | Connect the connector
motor connector motor connector. correctly.

Faulty AC supply volt-
age

Check  whether the
specified AC voltage is
supplied with an AC
voltmeter.

Use the specified AC
voltage.

Defective motor

Measure the supply
voltage with a DC volt-
meter or oscilloscope.

If the supply voltage is
normal, replace the mo-
tor (auto cutter).

Paper feed failure
(Paper jam)

Check whether or not
the paper is jamming or
torn and caught in the
paper path.

Eliminate unnecessary
paper in the paper path
and set paper properly.

e Faulty winder (When AW-3 is used)

Phenomenon

Cause

Check Method

Remedy

Does not wind pa-
per.

Paper end is not cor-
rectly inserted into the
slit of the winder reel.

Insert paper into the
slit correctly.

Faulty connection of the
motor connector

Check connection of the
motor connector.

Connect the connector
correctly.

Faulty AC supply volt-
age

Check  whether the
specified AC voltage is
supplied with an AC
voltmeter.

Use the specified AC
voltage.

Paper feed failure

Check whether or not

Eliminate unnecessary

(Paper jam) the paper is jamming or | paper in the paper path
torn and caught in the | and set paper properly.
paper path.

Defective motor Measure the supply | If the supply voltage is
voltage with a DC volt- | normal, replace the
meter or oscilloscope. motor assy AW.

~20-— CITIZEN




iDP3550/3551 Service Manual

5. SERVICE PARTS LIST
5.1 Parts List for Mechanism

EXPLODED VIEW 1/1
Ref. No| Parts No. Description iDP3550 iDP3551
1 E4002-430 | Chassis 1 1
2 Vinyl Tape 1 1
3 E6601-220 | Printer Stand 2 2
4 E4035-690 | Ground Plate 1 1
5 E40000290 | PE Mechanism Assy 1 1
6 E66201-060 | Top Cabinet Assy 1 1
7 E62020390 | Bottom Cabinet Assy 1 1
8 E62040550 | Printer Cover Assy 1
9 E6220-220 | Paper Cutter (1)
10 E62040340 | Printer Cover AC 1
11 E6101-115 | Strain Relief Bushing (HEYCO) (0)N,usA) (1)@aPN,USA
11 E6101-120 | Strain Relief Bushing (HEYCO) (1) (EUR) (1) (EYR)
12 DP-654, 657 1) 1)
13 AC-134 Auto Cutter Unit AC-134-E 1
14 E6310-010 | Rear Cover 1 1
15 E4002-560 | Shield Plate 1 1
16 E77001-465| Control PCB Assy 3550-01(Sexiad) (1) (1)
16 E77001-470 | Control PCB Assy 3550-01(Seriabsa) 1) D
16 E77001-475 | Control PCB Assy 3550-02(Parallel) (1) 1)
16 E77001-480 | Control PCB Assy 3551-01(Seriatur) 1) D
16 E77001-485| Control PCB Assy 3551-01(Sevizd) 1) Q)
16 E77001-490( Control PCB Assy 3551-02(Parallel (1) 1
17 E40000305 | Power PCB Assy 3535-03(230V) D) (1
17 E40000315 | Power PCB Assy 3535-03(120V) 1) (1
30 76G22579 | Screw M3x6 Tapping 7 7
31 76G22796 | Screw M3x8 Tapping 1 1
32 76G38641 | Screw M3x14 Tapping (with Washer) 2 2
33 76G72589 | Screw M4x6 Tapping 2 2
34 76G42959 | Screw M4x6 Tapping (with Outer- 1 1
Toothed Lock Washer)
35 76G29560 | Screw M3x12 Tapping 4 4
36 76G42966 | Screw M3x6 Tapping (with Outer- 1 1
Toothed Lock Washer)

-21- CITIZEN



iDP3550/3551 Service Manual

5.2 Disassembly Drawing

¢ Disassembly Drawing-1

CITIZEN

_22_



iDP3550/3551 Service Manual

¢ Disassembly Drawing-2

CITIZEN

23—



iDP3550/3551 Service Manual

5.3 Parts List for PCB Assy

5.3.1 Control PCB Assy 3550-01 (R)/3550-02 (P) 1/4
. iDP3550 iDP3551
Ref. No Parts No. Description R P R P
SW1,2 E5102-450| Switch SKHHNH 2 2 2 2
IC1 404PC-10 | CPU 404PC-10 1 1 1 1
IC2 E 107-370 | EPROM M27C512B 1 1 1 1
IC3 E 107-350 | SRAM TC55257DPL-85L 1 1 1 1
IC4 E2010610 | TTLIC SN74LS14AP 1 1 1 1
IC6 E2002-670 | Reset IC M51953BL 1 1 1 1
IC7 E 202-950 | I/F-IC MAX202CPE 1 1
IC7 E2010630 | TTLIC SN74LS373AP 1 1
IC8 E 202-950 | I/F-IC MAX202CPE 1 1
IC8 E2010620 | TTLIC SN74LS74AP 1 1
IC9 E2010101 | HCMOS TC74HCOOAP 1 1 1 1
IC10 E2016110 | TTLIC SN74LS04AP 1 1 1 1
IC11 E2016110 | TTLIC SN74LS04AP 1 1
IC11 E2010640 | TTLIC SN74LS00AP 1 1
IC12 E2010640 | TTLIC SN74LS00AP 1 1
TAl E 390-300 | Tr. Array MTAQO01M F4002 1 1 1 1
TA2 E 390-370 | Tr. Array M54567P 1 1 1 1
TA3 E 390-230 | Tr. Array TA8428K 1 1
TR1 E 379-129 | Transistor 2SD1292R 1 1 1 1
TR2-6,12 E 359-090| Transistor 2SC1740SR 4 q G b
TR7 E 359-200 | Transistor 2SA1458 1 1 1 1
TR8 E 358-040 | Transistor RN1002 1 1 1 1
TR9-11 E 359-170 | Transistor 2SC4671-AN 3 3 3 3
D1,2 E 400-460 | Diode 152076 2 2
ZD1 E406-505 | Z. Diode RD20EB2 1 1 1 1
LED1,2 E480-390 | LED SEL2410E 2 2 2 2
Xtal E 501-410 | X'tal CST16.00MXWO0C4 1 1 1 1
DSW1 E 5103-490( DIP SW. KSD-10 1 1 1 1
DSW2 E 5103-510| DIP SW. KSD-8 1 1
BZ MEB12C5 | Buzzer MEB-12C-5 1 1 1 1
Ci1 E2010-960 | Ele. Cap. 16YK100M 1 1 1 1
Cc2 E2010-920 | Ele. Cap. 35YK47M 1 1 1 1
C3,4,17-21,2%5 E 2220-170 C. Cap. DD308-63F104750 14 14 | 4 14
CP1-6

C5,7,8 E2220-110| C. Cap. DD104-63B102K50 3 3 3 K
C6,9,10 E2220-100| C. Cap. DD106-63F103750 3 K 3 B
C11 E2220-210| C. Cap. DD804-63B222750 1 1
C11 E2220-110| C. Cap. DD104-63B102K50 1 1

—-24 - CITIZEN



iDP3550/3551 Service Manual

2/4
. iDP3550 iDP3551
Ref. No Parts No. Description R P R P
C12-16,22-24 E2220-170, C. Cap. DD308-63F104Z50 11 11
26,34,38
C12,16,22 E2220-100{ C. Cap. DD106-63F103Z50
C13 E2220-100| C. Cap. DD106-63F103250 1
Cl4 E2220-210| C. Cap. DD804-63B222250 1 1
Ci15 E2220-120| C. Cap. DD104-63B471K50 1 il
Cc23 E2010-950| Cap. FSOH-473Z 1 1
C24, 26-28 E2220-200{ C. Cap. DD104-63B101K50 4
cz27 E2220-110| C. Cap. DD104-63B102K50 1 1
C28,30 E2220-100| C. Cap. DD106-63F103Z50 2 2
C29 E2220-100| C. Cap. DD106-63F103250 1
C29, CP7-9 E2220-170, C. Cap. DD308-63F104Z50
C31 E2010-950| Cap. FSOH-473Z 1 1
C33, 35-37 E2220-200{ C. Cap. DD104-63B101K50 4 4
RA1 E3500-040 | Re. Array M9-1-103J 1 1
RA1,2 E3500-080 | Re. Array M9-1-332J 2 2
RA2,3 E3500-050 | Re. Array M5-1-103J 2 2
RA3,6 E3500-040 | Re. Array M9-1-103J 2 2
RA4 E3500-290 | Re. Array M5-1-332J 1 1
RA4 E3500-050 | Re. Array M5-1-103J 1 1
RA7 E3500-290 | Re. Array M5-1-332J 1 1
R1,17 Resistor RD25M10-1K0QJ 2 2
RA1,16 Resistor RD25M10-1K0QJ 2 2
R2 Resistor RD25M10-33K2J 1 1 1 1
R3 Resistor RD25M10-18@J 1 1 1 1
R4,18 Resistor RD25M10-10K2J 2 2 2 2
R5,7,9,19,23 Resistor RD25M10-10K2J 6 6
28
R5,23 Resistor RD25M10-10@J 2 2
R6 Resistor RD25M10-10@J 1 1
R6,8,17,24,24 Resistor RD25M10-10K2J 5 5
R7 Resistor RD25M10-62K2J 1 1
R8 Resistor RD25M10-62K2J 1 1
R9,14,22,31 Resistor RD25M10-3.3K2J 4 4
R10,11,15,21 Resistor RD25M10-3.3K2J 5 5 5 5
30
R12,16,29 Resistor RD25M10-3.3K2J 3 3
R12 Resistor RD25M10-68K2J 1 1
R13 Resistor RD25M10-68K2J 1 1
R13,28 Resistor RD25M10-330K2J 2 2
3/4
—_25_ CITIZEN



iDP3550/3551 Service Manual

. iDP3550 iDP3551
Ref. No Parts No. Description R = R P
R14,26 Resistor RD25M10-330K2J 2 2
R19 Resistor 1.50-1W 1 1
R20 Resistor 1.50-1W 1 1
R22 Resistor RD25M10-4.7K2J 1 1 1 1
R24,25 Resistor RD25M10-10K2J 2
R25,26 Resistor RD25M10-10K2J 2
R27 Resistor RD25M10-330K2 1 1 1 1
LB1-18,23-2§ E4009-510( Fe. Beads BLO2RN1-A62 22 2p 2P 2
LB19-22 E4009-510| Fe. Beads BLO2RN1-A62 4 4
LB27 E4009-510 | Fe. Beads BLO2RN1-A62 1
CAl E4900-620 | Cord Assy 25-0371 1 1 1 1
CA2 E4900-630 | Cord Assy 25-0372 1 1 1 1
CN1 E48000260| Connector B5P-SHF-1AA 1 1 1 1
CN2 E48000940| Connector 5267-02A-X 1 1 1 1
CN3 E48000265| Connector 5045-04A 1 1 1 1
CN4 E48000280| Connector FCN-674J025-L/C 1 1
CN4 E48000600| Connector 57GE-40360-751 1
(CN4) Metal Stay 17L-002A 2) (2)
(JPN,EUR), (JPN,EUR),
(CN4) Screw M2.6x12 ZNP 2 (2)
(JPN,EUR), (JPN,EUR),
(CN4) Metal Stay 17L-002C (2) (2)
(USA) (USA)
(CN4) Screw UNC#4-40c12(ZNP) 2 (2)
(USA) (USA)
CN5 E4800-945 | Connector 5267-04A-X 1 1
CN6 E48000565| Connector JACK-285D-9660J-101 1 1 1
JP102 Jumper $0.7mm 10mm 1 1
SC1 Switching Connector  00-8261-24-
E48000860 33-10-806 1 1 1 1
REC1-4 E48000855| Receptacle  20-8261-0249-06-8p7 4 4 4
REC5-8 E48000855| Receptacle 20-8261-0249-06-8p7 4 4
ICS E48000870| IC Socket 87-2806S04 1 1 1 ]
PC PCB 3550-01 1 1
PC PCB 3550-02 1 1
_ 26— CITIZEN



iDP3550/3551 Service Manual

4/4

oL iDP3550 iDP3551

Ref. No Parts No. Description

P R P R P

Screw M3x10 ZNP (C) 2 2

Screw M3x8 (B-506) 2 2 2 2

Nut M3 ZNP (C) 2 4 2 4
E8035-010 | Insu-Lock Tie T18S 1 1 1

(IC2) ROM Label PDL-65 1 1 1 1

_27—

CITIZEN



iDP3550/3551 Service Manual

5.3.2 Power PCB Assy 3535-03 1/2
Ref. No Parts No. Description USA EUR

TR Transformer 25-0289 120V Q)
TR Transformer 25-0290 230V Q)

Power Cord 25-0184 120V Q)

Power Cord  25-0185 230V (1)
NF Noise Filter PLAA3221R0D01 1 1
IC1 Regulator M5231TL 1 1
IC2 Regulator pPC2405AHF 1 1
TR1 Transistor 2SB1340 1 1
DS1 Diode Stack 2KBP02M 1 1
DS2 Diode Stack KBP02M 1 1
C1,2 Film Cap. PHE830M 2 2
C5 Ele. Cap 63PNJ-2200A 2525 1 1
C6 C. Cap. DD804B101K50 1 1
C7 Ele. Cap. 50YK1M-TA-5x11 1 1
cs8 Ele. Cap. 35YK470M 10«16 1 1
C9 Ele. Cap. SME16VB-3300M 1 1
C10 Ele Cap. CESME1C101 1 1
Cl1 Mylar Cap. DMY21H104 1 1
R1 Resistor RD25T(26)-330 1 1
R2 Resistor RD25T(26)-56@0 1 1
R3 Resistor SN14K2ET26A20K2 F 1 1
R4 Resistor SN14K2ET26A1.54K) F 1 1
CN1 Connector F5P-SHVQ 1 1
CN5 Terminal GSK801 1
F1,3 Fuse 235001 2 1
F1 Fuse 218500 1

Heat Sink 50-0079 1 1
SW Switch SF-W1P1A-01BB2 1 1

_og_ CITIZEN



iDP3550/3551 Service Manual

2/2
Ref. No Parts No. Description USA EUR
Adhesive Tapg10mm L=10mm 1 1
FH2 Jumper $0.7mm L=18mm 1 1
Screw M3x8 B Tight Znp(c) 2 2
Screw M3x8 B Tight (B-567) 1 1
FH1,3 Fuse Holder F218P 4 4
PCB PCB 3535-03 1 1
Cord Bushing SR-4N-4 1
Cord Bushing SR-5N-4 1
Tie CV-075 1
-29 - CITIZEN



iDP3550/3551 Service Manual

5.4 Parts Layout Drawing
5.4.1 Control PCB Assy 3550-01 (Serial Interface D-sub 25)

il
r
g W
: 7 g
98.10 - £
% 3550-01 o
() sss ] & j"[%l—] e 020701 moEW e g B[ CD
% sw | SW2 “ Do ==
R, @ s é’; ) HD7 4HCOOP 8 D | =
x 9 ~(330 )~ ] D |
b @@ [[g] (30 _)-p27 1 7 mx| DO |&
e vy -CID- ¥ CDE (|
& [ [ -~ wl gy Mx
) =] ; i -] CO8
i e om s B8 s e -Cmo- ] il
BB 6 o, B2
™ - o~
i TC55257DPL-85L |, rL i o
o o i
L (W]
%
[=]
~t

T ioerea
16.00M
XTAL

00

\ b z v ’
O
1 Y 2 |-
tn
N0 . n 1 i i n.n 0 n.n n.n ~
. & 28 15 I ~
~
_ N S M27C512B . : w22 ()
LBz3. co (Co @E )
o S (T
\ 10T LB VL | g "CI)* .

A
@ R ..
I ON 13 {?8'35 = ﬁ cze ~(0D-
L UnRemeseni —— o
H 3 £ ~(33K )~
LB4 “[Jg] %% \ ©@... Eé]“ 1w I - Ri5_ (10 -
Iy (T )T T i wk O
3 & o g E 3 . . > SN74LS14AP b T4LSO4AP g %%ﬁ’, =
B5P-SHF-1AA ‘ o Es ! zl Y \& - 35
- (Tremoom ] " 182
La;)ﬁg RNz ) e l ” NNREATENE
= .Izi : W@ RAS 3 y
N e s ol — (@D . o SRV
N ] w K 3 % SN74LSODAP SR 90
~ Tz23 . N 7 R75 +
3 —) . B SP232ACP
v — ; : .
—] (:ﬂ' cm RA1 RA3 5
z -/ = R
) — > b B IC7 g
8 | ) SP232ACP —_— e
= - X P12 ke %ﬂ
: .@ .@ cH i -
o @ \. 8 @u Ig —@Eiﬂ
JES I DR I DO ) 5C1 - m —a
L © B N N e
/ x n a el o o|a o o o 2 “£‘
B CIEREO o &8
& 9 1fela a &
b}
LB2 S, LB3 9
1 ﬂEI

8 0
K ©
9 -
1N o |«
FCN-674 1025 L/C O ello |2
25 " & o_fa
O OP el

_30- CITIZEN



iDP3550/3551 Service Manual

5.4.2 Control PCB Assy 3550-02 (Parallel Interface)

S

\

5267-02A-X

=

[11

il
[
2
4 5
z & 96.10 - ]
I 3550-02
L X ™ — AH ) MADE N JAPAY g %
g & & SW1 Sw2 LED2 LED1 [ -]
11 P L b HD74HCOOP P
~ X Py ~CIWD- £ 5 7 R
n @S| ~-Caan)-rm 9 % 4
m - -0
P 2 ‘Eﬂ' -BD- 0O
= 5 c25 M4
" o o ~CIKD- | g
i ~ Rz e 3
RO ]
> TC552570PL-85L P g S S
-~ u
= g E
14 " ey >
n.n N 0 nn.n o n . n.n0.n.oqn 15 D~
Y M27C512B
K2 co
..
LU L B R ~CH )~ @
" R16
B a w & [ o IC6
fies BEsonn P4 5 5
w — T
BEEE @@,
5y 14 IC4 8 4 1010 8 2 o C2
R2 - — I . w ™~ [l ] B —
o 17 () ¢ CBIRD swrasieap | B ) Ho7aLS0AP g & 8
~
B5P-SHF -1AA]' y @
kel —f e,

) s TR - (I R4 7 RN TAB 248K
R« @29_}* ’(I)_' ‘ Ce - 13 -5 =
2 G, el — " i o . I8 3 R?E u@

B2 ~ HD74L.S00AP ;SN71.L571.AP Rz6 i@

& - g 1 4 TRAS
—J E— 1" NI
A = D g .
. HD7 4L SD4AP e @
—/ = ATV — TRV TRs
b - x> 1| M@-1-332J | E, B
© - Q|3 20 17 "o L, e
- S |t S § R
= ab 74LS373AP g, rGE) oo
=< "o =G -G~ 2G|
& N re |18 (151
B R [T omawsar o S -GEO® IS

n @ 561 £ (0K )~

@ |m © R1 D C B A 20 £ 2 o 3 om

SPS sl By SIS EEIEIE

s U LT 0 © T GOOBOG0
LNQ ajalofn
1625 O : B9 e
" m P-q 2 [}
8 R2Z 8)4 %aj 1 5
.S JACK
K o Mo 19 -2850
‘@ 57GE-40360-751 @1 o] o -9660)
6“ o -101
P L
CiNL N

-31-

CITIZEN



iDP3550/3551 Service Manual

5.4.3 Power PCB Assy 3535-03 (120V)

10REEQD=3N q Ll 0-AT6ZOV
A B0 - 1086
Lo/ u AQSZ i £0-GEGE
um_zOe . - >omm\m4ur_ [T émm«maom_
_ WZadgx|Zsd E
@ A70L LD | == nl - |" MIAIUJ,
aLo . [ O i "| In 0
2 oo NS, vz === (AOZL)68Z0-SZ =
HWILA & |, ADSZ A
_ MS _._._.__.N_m_m__b-w
N
S : &
23 it M
WOEQAHd W L0
o
o~ =
< A
o ©
Tmfim L] i
: T
wozZEvld | \&
L3
H IS2 | hoez
80  asm) 1o Buyoys puo sdA| Awps \  AQGZ WAOZLACOH
ypm Awio adodaraln) jo xsu hmc_cm_o /mz_:.m ENILNA

ugiyd3|oid panuRUCa 104 .Gz_zm<;

\

\

LO#EL00-2N

CITIZEN

-32_



iDP3550/3551 Service Manual

5.4.4 Power PCB Assv 3535-03 (230V)

)
_ ADGZ Vi

+ o o -

WZodE

NISZ/VL
£d

ANE)

Ll 0-AY6LDV

(AOEZ)0620-GZ

10’86
£0-GEGE

ViLAdVSL09d
Q

WiV LOLOLON/d

mll
i
O
=

L __J
o

g
&S

{ WOESAHd |

i

T

Ypm Ardo asopderan) jo ysi sunbo

Yo3310.d PANUKUOS 0L BNINYY M \

0 - LOgXSY
M L3 B
-1NE

M-u N
w

L1 |8 m

L4
RIS | aoez

80 2en; o Buyo! puo adA; awos \  ADSZ ¥LAOZL/AOOL

\ORIYY TN

\

LO®EEQO-N

CITIZEN

-33-



iDP3550/3551 Service Manual

DRAWING
The following lists the reference drawings for maintenance, and so on.
= Block diagram
= Circuit diagrams for the following circuits
= Control PCB Assy (Serial Interface)
= Control PCB Assy (Parallel Interface)
= Power PCB Assy

—34- CITIZEN



iDP3550/3551 Service Manual

6.1 Block Diagram

OSC16MHz
Parallel ’_’
(CENTRONICS :
Compliant) ,| Winder Winder
Serial <> Interface Control
(RS-232C Com- (Option)
pliant)
Cutter Auto
Paper D < >
Near-end > Control _ Cutter
Control (iDP3551 only)
CPU Drawer |, 5
, “— 7| control | > Drawer
Operation|_ -
Panel ”
5 o
Print Head | DIP Switch
Driver N ~on
et om | | [€ Motor
DP-654C LF Solenoid/ | RAM
or CC Solenoid/ |*
DP-657G Drivers Battery
Mechanism Back-up
Control .
Signals/ ”
PE Signal
L Reset
Vp Vfc
_ L5 o Power
. Filter Supply
Power Supply
120 V AC, 50/60 Hz

230 V AC, 50/60 Hz

Vp: For mechanism drive/drawer kick-out
Vcc: For circuit

—-35- CITIZEN



iDP3550/3551 Service Manual

ircuit Diagram

6.2 C

6.2.1 Control PCB Assy 3550-01 (Serial Interface D-sub 25)

dvoosT dvoos dveosT
(o9 L AUL .‘L.ﬂ.u
W = b 5 B 5

o 28 ]

*
P 8 auerms

(Ll

% R
o
R
i
R [ 0999

SMYETEETIOH
ned 1

SRRE

2083 BEERUER  RERS

S3:
e

3 Pk 758 85

1
i
.

9d2=l3l  EdI=Y3l
Sd3=0L2l  ZdD-Z3
7d1=6  LdD=3l
SX70L * NQJ SSVd

& semansss

gl

o] %
: o
1 a
: =
T ™ma = e 3
T w3 DUHT o
n [ 1T wosT| %
L Y U0 o] o
N sy 1 20
o e1no _r WO | H
by S0 7’ HOIH | H
u N Y100 ZowT] §
=N £lno 1 =l e
: qN o Toar| ©
e N o o]
v4-F k-
1 ol OTA o9 —_—
s H (T T 20 gorin =)
s LY s on
- [ et BN fm _ e
22 ° £ wma 4 T
— “i L ATZ*MA
— s dYoosT W
=
— o
00 w il —_ —
== 2 =
— e K)\QN‘.E\,
”ﬁ $-OSH ZMST
1 z=
1 S
s
IS
70
XE
129 :«emm\ L 4 & H
B 0 70958
0l e 519

N3dQ J0 3-Z= » 3-Z
N340 40 J-i= * 371

N3d0 = *

*3T [ *DTf O HIJS
* 0 ot * 2| Qs
* 3 * D7l | S
* -l ] 3 * - | IS

* - - Qs

* - a3 IS

2T | * D3 |3 | 8IS

2T T [ =2 [ WIS
S04S3| ¥viS | Wad

70, 80 gsozsy

43

1a

A
ro>
m 70
2 BH ELD
NZL
Nl
N

701 ZLD

cHNveoneaRENRIRRCRRRRNRSS

CITIZEN

—36—



iDP3550/3551 Service Manual

6.2.2 Control PCB Assy 3550-02 (Parallel Interface)

6d2=21D}

@Y00H dVOUH 8= vD=LDI
(5] (] L0 eom
z 5 9dI=6J  ZH-

Sd3=83  1dI=DI

6X¥0L * NOJ SSvd

'
)
I
'
= '
'
i '
'
B '
3 1
I
.
| = cd : "
H = 7 .
N A < 2 > VO (R o d !
! TR = Zl i
' T T = o n
' ' ' = i
P A N ! ! == o8 T
! 1 FRR | W— 1 a~as7 RS y " H !
T 1 '
' H i 2l e s o s O S t-444---
' ' H 321 s 4 r N
! H H 7d T B
. : T 8. = 1 :
: i T od 2] s T
' ' ! od v
' ; , Loes 4 L
' ¢ ' ANA 2
' I X d T
T v
' ' ) X d T -
I LY o o
' " T gy d ZIEE[T T o
i
H wv ooy o 1TE ol
' ' ay 103 ¥ H 1 b =
- av (] d ot H 1] o7
: & 5l Rip— 2n
: B4 o5d 5 n =13 EesH g
: o cvd wha ! ' u
: & B i
; 4 e L 3
1 & e
o Zvd
iy ivd
o ové —Hh
] 1y
8 2
o [
E 004
& -ARIS
= BAY
7] £
N xa  x WA

R
TR
wix
DA
dYELEST
2
N30 40 J-Z= * 3-Z *
mw N3dO 40 J-i= % J-} 8 8
N340 - » 2R
B &
w3z ] o 1 3 [ o B B
5T [ *00 | =3 [ % ® %
3T R ER 3] =
3T %3] > | Vi
S0a/0s3] 8vis | We)

CITIZEN

_37-




iDP3550/3551 Service Manual

6.2.3 Power PCB Assy 3535-03 (120V)

r-r—-—-——-—-"-"-""""="-""="-"-"-=-"-"-"-"-"-"-"=--"-"-=-"-=-"=-"=-"=-"=-""="=-"="="=-"="=~"=~"~"~"~=~"~"=-"=-"=-"==-=- =1 pE]
I |
| I
| A9L/0OEE | Aoz v
; :
1 % WZ0dax “
i -
: wmw 90 6820-6Z Mi i
+ - i
zsa | ! -
. e 78L0-6Z
| AT EDS m i I ! J2v |
|
| 9 | I
; g | FE702 4 , | “
; e | | 7-N7-dS
H
_ R Rl >
| 3 o C M3 Z7 ! e it 1
| o |- NI L00'SEZ €4 ! ! I
- = I_ I i
! I
I 1 1 t |
t I | 1 dLZZEVd
_ \_. | WZ0dgxZ | | - == L00'GEZ |
) 1oL AE9/4002Z 0 " AAAS 14
_ M543 39 L. Som “ BM L el _
_ ASEr0L gluezsn 150 d BT NS EY !
- OAHS-dS3 8 €l L ) [ H | | % _%.“ Ha ”
z AC+ AR | OEE o - --T¢ e i
(SIOND 7 | e + I
£ IaND 4M0Z < A0S/71 b
7 1)OND YOk Sl _ _
- - MS
3 77 e JKWA Z288L0-VidlM-dS u
N3 O7ELESZ LiL 1“3
| dr ]
|
| N L]
| |
| !
L o o o L L L L L L L e e e e e e e e e J

£0-5ESE Od

CITIZEN

—38-—



iDP3550/3551 Service Manual

6.2.4 Power PCB Assy 3535-03 (230V)

r-r-——----------"- - - ---"-=—-—"--=-=--"-"=-"=-"=-"=-"=-="=-~"="=~"="="~"="="=>-""”=-"=”-"=—-=-=-- | pE]
! |
_ | AGEZIV
1 A9L/7Q0EE |
" WZ0odax "
| 7oL 0620-5Z oL I
| noT 9F 2sa . _ o
10~
|
_ A0k 11y | \ | v |
* [
! g 1
_ R + _ \ : |
71~ ! 7-NG-3S
] r J | ! |
£ £Hd TR ol D
t I “INUI__ | qlk/\n]_ L
! 1€ L [ A L it -
i o N l00'SEZ €4 ! ! |
| - -1 L |
i I | 1 |
| ! T T | | HZZEVd 00S8LT |
_ P | WZOdEXZ . | - !
[ pirsL s 095 o' ! AES4002L i i % _ | H H
R ¢ qLLEZemW oF : 1% LN v rio |
| ASE/OL] g LI 150 | ;22 | (43 _N:xu |
) OAHS~dS3 8 £l Ly L ! ! ! ! Q. L3 !
z AS+ [ 0eg . _ ab - J¢ L [
1SIOND 7
£ oD 2107 3 A0S/ | |
7 (DIONT - m - s, 3 W
- - |
S A7z i %Wa 29810-Vidi M-S !
N O7ELESZ L1 £“7
i o s
[
N
| N
) 108XSD |
! I
e e o o o o e e e e J

£0-5E£SE 1d

CITIZEN

—39—



iDP3550/3551 Service Manual

7. OUTER DIMENSION

7.1 iDP3550
160 . -t
R 97 . 0
=== = s
loo©0© &
~:i" ) oJ
(‘\‘j [y
U
hant [0 6]
|
oJ
~
_33.5 % _
_35.5 91
[
I 1
@ Y ol e
1 | o
=
T =
=g { il .
d-
_ 42.2 71
_40—

Unit: mm

81.8 |

CITIZEN



iDP3550/3551 Service Manual

7.2 iDP3551
Unit: mm
_ 160 .
3.5 97 “ 8.8 .
« | ‘
[ — - - | )
= |
f\] '
- |
o B ‘é__f’@_
) —
2 - '
(e s
QRO —| M
's fﬁ (\J
™~
o
=
N L ; ,
15.5 85
i0. 94.75
2 18
™
35.5 N &
|
]
e — ol o
| 1 ) ] 4
N
L || o
o o
0 <
Lo
- — [T+’
-
_ 422 71
41— CITIZEN



